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 التمرين:◄

I) 𝑓ℝ − {1}( )
2 1

1

x x
f x

x

 + +
=

−
𝛽(𝐶𝑓)

( ); ,O i j

♦𝛼𝛽(𝐶𝑓)0𝐴(2; −3)

II) 𝛼 = 1𝛽 = −1

A 𝑙𝑖𝑚
𝑥

>
→1

 𝑓(𝑥)𝑙𝑖𝑚
𝑥

<
→1

 𝑓(𝑥) 

B 𝑙𝑖𝑚
𝑥→+∞

 𝑓(𝑥)𝑙𝑖𝑚
𝑥→−∞

 𝑓(𝑥) 

C 𝑎𝑏𝑐( )
1

c
f x ax b

x
= + +

−
 

 (𝐶𝑓)(Δ)±∞ 

 (𝐶𝑓)(Δ) 

D 𝑥 ∈ ℝ − {1}( )
( )

( )
2

2
'

1

x x
f x

x

−
=

−
 

𝑓

E 𝜔(Δ)𝑥 = 1 

𝜔 (𝐶𝑓) 

(𝐶𝑓)𝜔 

F (Δ) (𝐶𝑓) 

G 𝑚
1

...( )
1

x m E
x
= +

−

𝑓(𝑥) + 𝑥 = 𝑚 … (𝐸′) 

III) ℎℝ − {−1; 1}ℎ(𝑥) = 𝑓(|𝑥|)

A ℎ 

B  (𝐶ℎ)ℎ(𝐶𝑓) 
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 :حل مقترح◄
I) 𝛼𝛽

𝑓0𝑓′(0) = 0

𝑓′(𝑥)

𝑓′(𝑥) =
(2𝛼𝑥 + 𝛽)(1 − 𝑥) − (−1)(𝛼𝑥2 + 𝛽𝑥 + 1)

(1 − 𝑥)2

𝑓′(0) = 0

(2𝛼(0) + 𝛽)(1 − 0) − (−1)(𝛼(0)2 + 𝛽(0) + 1)

(1 − 0)2
= 0 ⟹ 𝛽 + 1 = 0 

⟹ 𝛽 = −1  

𝑓(2) = −3

𝛼(2)2 + 𝛽(2) + 1

1 − 2
= −3 ⟹ 4𝛼 + 2𝛽 + 1 = 3

⟹ 4𝛼 + 2𝛽 = 2

⟹ 4𝛼 = 4 

⟹ 𝛼 = 1

( )
2 1

1

x x
f x

x

− +
=

−

II) 𝛼 = 1𝛽 = −1

A 𝑙𝑖𝑚
𝑥

>
→1

 𝑓(𝑥)𝑙𝑖𝑚
𝑥

<
→1

 𝑓(𝑥)

• 𝑙𝑖𝑚
𝑥

>
→1

 𝑓(𝑥) = 𝑙𝑖𝑚
𝑥

>
→1

 (
𝑥2 − 𝑥 + 1

1 − 𝑥
) =

1

0−
= −∞

(𝐶𝑓)−∞𝑥 = 1

• 𝑙𝑖𝑚
𝑥

<
→1

 𝑓(𝑥) = 𝑙𝑖𝑚
𝑥

<
→1

 (
𝑥2 − 𝑥 + 1

1 − 𝑥
) =

1

0+
= +∞

(𝐶𝑓)+∞𝑥 = 1

B 𝑙𝑖𝑚
𝑥→+∞

 𝑓(𝑥)𝑙𝑖𝑚
𝑥→−∞

 𝑓(𝑥)

• 𝑙𝑖𝑚
𝑥→+∞

 𝑓(𝑥) = 𝑙𝑖𝑚
𝑥→+∞

 (
𝑥2 − 𝑥 + 1

1 − 𝑥
) = 𝑙𝑖𝑚

𝑥→+∞
 (

𝑥2

−𝑥
) = 𝑙𝑖𝑚

𝑥→+∞
 (−𝑥) 

= −∞

• 𝑙𝑖𝑚
𝑥→−∞

 𝑓(𝑥) = 𝑙𝑖𝑚
𝑥→−∞

 (
𝑥2 − 𝑥 + 1

1 − 𝑥
) = +∞

C 𝑎𝑏𝑐𝑓(𝑥) = 𝑎𝑥 + 𝑏 +
𝑐

1−𝑥
 

𝑓(𝑥) = 𝑎𝑥 + 𝑏 +
𝑐

1 − 𝑥

=
(𝑎𝑥 + 𝑏)(1 − 𝑥) + 𝑐

1 − 𝑥
 

=
𝑎𝑥 − 𝑎𝑥2 + 𝑏 − 𝑏𝑥 + 𝑐

1 − 𝑥
 

=
−𝑎𝑥2 + (𝑎 − 𝑏) + 𝑏 + 𝑐

1 − 𝑥
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 {
−𝑎 = 1

𝑎 − 𝑏 = −1
𝑏 + 𝑐 = 1

{
𝑎 = −1
𝑏 = 0
𝑐 = 1

( )
1

1
f x x

x
= − +

−

 (𝐶𝑓)(Δ)±∞

𝑙𝑖𝑚
𝑥→±∞

[𝑓(𝑥) − (−𝑥)] = 𝑙𝑖𝑚
𝑥→±∞

[−𝑥 +
1

1 − 𝑥
− (−𝑥)] 

= 𝑙𝑖𝑚
𝑥→±∞

[
1

1 − 𝑥
] 

= 0

(𝐶𝑓)(Δ)±∞𝑦(Δ) = −𝑥

 (𝐶𝑓)(Δ)

𝑓(𝑥) − 𝑦(Δ) =
1

1 − 𝑥
1 − 𝑥 = 0𝑥 = 1

+∞1−∞𝑥

− +𝑓(𝑥) − 𝑦(Δ)

(𝐶𝑓)(Δ)(𝐶𝑓)(Δ) 

D 𝑥 ∈ ℝ − {1}𝑓′(𝑥) =
𝑥(2−𝑥)

(1−𝑥)2

𝑓′(𝑥) =
(2𝑥 − 1)(1 − 𝑥) − (−1)(𝑥2 − 𝑥 + 1)

(1 − 𝑥)2
 

=
2𝑥 − 2𝑥2 − 1 + 𝑥 + 𝑥2 − 𝑥 + 1

(1 − 𝑥)2
 

=
−𝑥2 + 2𝑥

(1 − 𝑥)2
 

=
𝑥(2 − 𝑥)

(1 − 𝑥)2

𝑓

(1 − 𝑥)2 > 0𝑓′(𝑥)𝑥(2 − 𝑥)

𝑥(2 − 𝑥) = 0 ⟹ {

𝑥 = 0

2 − 𝑥 = 0

⟹ {

𝑥 = 0

𝑥 = 2

- 𝑓

+∞210−∞𝑥

−0++0−𝑓′(𝑥)

−3+∞+∞

𝑓(𝑥)

−∞−∞1

E 𝜔(Δ)𝑥 = 1

𝑥 = 1(Δ)𝑦 = −1

𝜔(1; −1)

𝜔 (𝐶𝑓)

𝑥 ∈ 𝐷𝑓
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𝑥 ∈  ]−∞; 1[ ∪ ]1; +∞[𝑥 > 1𝑥 < 1

(−𝑥) < −1(−𝑥) > −1(2(1) − 𝑥) < 1(2(1) − 𝑥) > 1

(2(1) − 𝑥) ∈  ]−∞; 1[ ∪  ]1; +∞[(2(1) − 𝑥) ∈ 𝐷𝑓

𝑓(2(1) − 𝑥) + 𝑓(𝑥) = −(2 − 𝑥) +
1

1 − (2 − 𝑥)
− 𝑥 +

1

1 − 𝑥
 

= −2 + 𝑥 +
1

−1 + 𝑥
− 𝑥 +

1

1 − 𝑥
 

= −2 −
1

1 − 𝑥
+

1

1 − 𝑥
= −2 = 2(−1)

𝜔 (𝐶𝑓)

(𝐶𝑓)𝜔

(𝐶𝑓)𝜔(1; −1)𝑎 ∈ ℝ − {1}

𝑓′(𝑎)(𝑥𝜔 − 𝑎) + 𝑓(𝑎) = 𝑦𝜔

𝑓′(𝑎)(𝑥𝜔 − 𝑎) + 𝑓(𝑎) = 𝑦𝜔 ⟹ 𝑓′(𝑎)(1 − 𝑎) + 𝑓(𝑎) = −1 

⟹
𝑎(2 − 𝑎)

(1 − 𝑎)2
(1 − 𝑎) +

𝑎2 − 𝑎 + 1

1 − 𝑎
= −1 

⟹
𝑎(2 − 𝑎)

(1 − 𝑎)2
−

𝑎2(2 − 𝑎)

(1 − 𝑎)2
+

𝑎2 − 𝑎 + 1

1 − 𝑎
= −1

⟹
𝑎(2 − 𝑎)

(1 − 𝑎)2
−

𝑎2(2 − 𝑎)

(1 − 𝑎)2
+

(𝑎2 − 𝑎 + 1)(1 − 𝑎)

(1 − 𝑎)2
= −1 

⟹
2𝑎 − 𝑎2 − 2𝑎2 + 𝑎3 + 𝑎2 − 𝑎3 − 𝑎 + 𝑎2 + 1 − 𝑎

(1 − 𝑎)2
= −1 

⟹
−𝑎2 + 1

(1 − 𝑎)2
= −1 

⟹
(1 − 𝑎)(1 + 𝑎)

(1 − 𝑎)2
= −1 

⟹
1 + 𝑎

1 − 𝑎
= −1 

⟹ 1 + 𝑎 = −1 + 𝑎 

⟹ 1 = −1

1 ≠ −1(𝐶𝑓)𝜔

F (Δ) (𝐶𝑓)

 مركز التناظر:

;Ω(𝛼النقطة نقول أن  𝛽)  مركز

 إذا تحقق ما يلي: (𝐶𝑓)تناظر 

{
2𝛼 − 𝑥 ∈ 𝐷𝑓

𝑓(2𝛼 − 𝑥) + 𝑓(𝑥) = 2𝛽
 

 أو

{

(𝛼 + 𝑥) ∈ 𝐷𝑓

(𝛼 − 𝑥) ∈ 𝐷𝑓

𝑓(𝛼 + 𝑥) + 𝑓(𝛼 − 𝑥) = 2𝛽
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G 

(𝐸)

1

1 − 𝑥
= 𝑥 + 𝑚 ⟹

1

1 − 𝑥
− 𝑥 = 𝑚 

⟹ 𝑓(𝑥) = 𝑚

(𝐸)(𝐶𝑓)𝑦𝑚 = 𝑥

𝑚 ∈] − ∞; −3[

𝑚 = −3

𝑚 ∈  ]−3; 1[

𝑚 = 1

𝑚 ∈  ]1; +∞[

(𝐸′)

𝑓(𝑥) + 𝑥 = 𝑚 ⟹ 𝑓(𝑥) = −𝑥 + 𝑚 

(𝐸′)(𝐶𝑓)𝑦𝑚 = −𝑥 + 𝑚

𝑚 ∈] − ∞; −1[

𝑚 = −1

𝑚 ∈  ]−1; 0[
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𝑚 = 0

𝑚 ∈  ]0; 1[

𝑚 = 1

𝑚 ∈  ]1; +∞[

III)
Aℎ

ℎ(−𝑥) = 𝑓(|−𝑥|) 

= 𝑓(|𝑥|) 

= ℎ(𝑥)

ℎ

B (𝐶ℎ)

ℎ(𝑥) = 𝑓(|𝑥|) 

= {
𝑓(𝑥)      ;          𝑥 ∈ [0; 1[ ∪ ]1; +∞[

𝑓(−𝑥)   ;    𝑥 ∈ ]−∞; −1[ ∪ ]−1; 0]

(𝐶ℎ)(𝐶𝑓)𝑥 ≥ 0

ℎ

►بالتوفيق في شهادة البكالوريا ◄


